Mﬂ() Practice sections 1]-1.5
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1. Let
_|4-x, x#2
_f(x)+{ 0 g
Determine the following limit. (Hint: Use the graph of the function.)

mf(x) =

\




. Let
X+2, x#1

xX)= .
S e
Determine the following limit. (Hint: Use the graph of the function.)

imf(x) = 3

r
"V

. Let f(x)=4x+3 and g(x)=x’. Find the limits:

(@) lim f(x) (b) img(x) (c) img(f(x))
~ 5 -5 =23 212,167
. Let f(x)=x" -3 and g(x) =2x. Find the limits:

(a) lim f(x) (b) limg(x) (c) im g(f(x))
S e Tiae
. Let f(x)=3+x* and g(x)=+/x+2 . Find the limits:

@ limf(x) ) lmg(x) (o) img(f(x)) | REVISED
2 NG = {J4# (557 am, 9/8/06
. Let f(x)=4x>-5x—4 and g(x)=¥x -5 . Find the limits:

@ m/(x) ©) lmg( () limg(f(x)

=70 =¥ -3
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10.

1.

12.

13.

14.

15.

Find the limit:

' <.
limsiny = .1?_— \ )>\

X—¥y—

Find the limit: ‘
lin}cos(?;—x]: -—,..'/ _ ﬁ l \
2 Z_ —l

. Find the limit:
z [
imn(Z) = b ]
fmes) T T3 e

Suppose that lim f{x)=7 and limg(x} = 6. Find the following limit:
lim{ ] = 7 é

Suppose that lim f(x) =15 and limg(x) = -7 . Find the foliowing limit:
im[f(x)+g0)] = |5-T7= B

Suppose that lim f(x) = —12 and lim g(x) = 8. Find the following limit:
m[f()-g@] = -2 - -8= —¢

Suppose that lim f(x)= -8 ard lim g(x) = 4. Find the following limit:
inf950] = ~9-4 = -3¢

Suppose that lim f(x}=6 and lim g{x)=-2. Find the following limit;
lim[f(x)g(x)] = ¢ (-2 == 12

Suppose that im f(x) =11 and lim g(x) = -9 . Find the following limit:

flxy

lim——— =~

Y
< g(x) cf
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16.

17.

18.

19.

20.

21.

22.

" function at all but one point.

Find the following limit (if it exists). Write a snmpler function that agrees with the given

5:58 am, 9/8/06
216 _ ] G“'(’) (X "éxfﬁé\-.
X+ ‘ =
}ﬂxx+6 = k'-y-:t@ (X‘*é) —

Find the following limit (if it exists). Write a simpler function that agrees with the given
function at all but one point. ~

3x% +14x-11 _ ("’D ( 57“'(-3

-
-

lim—m———
.\!—-)1 x -1 X—;, ('X I)
Find the limit (if it exists):’
+ : _
im 25— lim é‘ 4 I Ao =-L

= 1
4 x* 16 xv-4 (xrd k- D Xeir—t Q(’LD
Find the limit (if it exists):

A 2
2 —-X =-Xx-1
S s (), Kb BORXAXTEEE

Ax—s0 Ax T Ax~»O A)(.

¥ +AXF+] =2 xt
Determine the limit (if it exists): L';:’O . X +AX = !

. sinx(1-cosx) ('H—cosx\ %-
x—0 3x6 ( l + Q°$X) )l;u X - v M !m’

Determine the limit (if it exists):

. N
,Z(I—LOSX) (L-#c,oS‘f} _ -2 l,h‘/ 2n X""’l

1im—2(1—cosx) _ hwe
>0 ¥ T x—¥o xZ (1+eosX) Xtz
REVISED
Determine the limit (if it exists): 5:58 am, 9/8/06
6 5"\' 6
. sin®x - ‘h\ _
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23. Use the graph as shown to determine the following limits, and discuss the continuity of
the function at x=3.

@) lim /) () Bm /() G lim /()

;l - =1 Function s A1s coidmuonus
X

aﬂ' )(’,3 b€cause

o 021 2=

x—v=

V-

1 T

24. Use the graph as shown to determine the following limits, and discuss the continuity of
the function at x =-3.

() im f(x) (@) lim f(x) (i) lim f(x)

~ : ¢ | ’
: * o4 FU«VU:I',TM ) S d;scvn+;nuous
i x=3 because

. 2} [,m‘a[‘Q‘) :L?"Z/Z‘ﬁ(5>

x>
"
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+ + + »
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25. Use the graph to determine the following limits, and discuss the continuity of the
function at x =-3.

() lim f(x) (i) lm f(x) (i) lim f(x)
=0 =1 DNE .
y

s} T/Le ’(’UM‘JL

&3’ X = /.'3 .B'CQC!,W&'C

! e K00 does natexist

T X3

Soam 1S dis conTnweus

¥

26. Find the x-values (if any) at which the function f(x)= -14x* —14x -9 is not C L )
continuous. Which of the discontinuitites are removable? C‘@‘r\"l‘xn\t ns YoV & X

X 5 is not continuous. 37) 75

27. Find the x-values (if any) at which the function f(x)=—
x —

. ) e 0
Which of the discontinuitites are removable’ NOo N E

28. Find the x-values (if any) at which the function f(x)= -2—"9‘3—+18 is not continuous. .
N x° —-9x —_
. S x=3 1
7
Which of the discontinuitites are removable? X3 B 4 remoV S: ‘ e
—/’ -
!
- : f &
X= é 15 & y}or\f(@wo\&w
dis conthmw

29. Find constants g and b such that the function

fx)=dax+b ad

T <x<9 -
-8, x=9




30.

31

32.

33.

34.

3s.

36.

Find the constant a such that the function

sinx
—7.—=, x<0

S(x)= x

is continuous on the entire real line.

Find the vertical asymptotes (if any) of the function f(x)=

Find the vertical asymptotes (if any) of the function f(x)=—
x

Find the vertical asymptotes (if any) of the function f(x) = tan(~15x) .

5_;1,6_'_’_53—)- vh fov—

Find the limit: cos (-15x)

at9x, x20

Find the limit:

lim

x? —12x

. X
12 (x +144)(x 12) - )<——‘Plz, X-P/L/‘-/ /ZLI‘

Find the limit:

lim

x>0

(x" +§) = = .00

floy=0r=lim 0=

x2-100
x+4x-60






